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Match #10


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, and Dan Goff are the authors of these questions; further editing was done by Adam Fine and Marian Suter.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
 This girl’s name comes to us from a Hebrew word meaning ‘innocence and gentleness of a rose.’ This name can also refer to a Reuben sandwich made with pastrami instead of corned beef. In the book of Jeremiah, chapter 31, the Biblical woman with this name is ‘weeping for her children;’ she is best known as the preferred wife of Jacob. Environmentalist author Carson and celebrity chef Ray share what first name?

ANSWER: Rachel
2.
She was the voice of Sally Brown for two Peanuts specials in the 1980s.  In 2005 she replaced Kim Hill and joined Jaime Gomez, Allan Pineda, and Will Adams. Her group won Grammy awards for songs like “Don't Phunk with my Heart” and “Let's Get It Started.” In 2006, she released her first solo album, The Duchess. Stacy Ferguson is what singer, part of the Black Eyed Peas, and best-known for “London Bridge”?

ANSWER: Fergie (accept Stacy Ferguson before it is said in the question)

3.
Job (jobe) Charnock was once regarded as this city’s founder. The Maidan (mye-dahn) is a large park in its center. Its Eden Gardens cricket ground is one of two in the world that can seat over 100,000. A former capital of the British raj, it is located on the banks of the Hooghly and is the capital of West Bengal. What city is India’s fourth-largest behind Bangalore, Delhi, and Mumbai (moom-bye)? 

ANSWER: Calcutta or Kolkata, India

4.
She is based on the real-life Queen Gruoch (groo-awk), who reigned between 1040 and 1057. She complains that her husband is ‘too full of the milk of human kindness,’ and wishes she could be ‘unsexed’ so she could do what was needed. However, she begins sleepwalking and seeing ‘damned spots’ on her hands, eventually committing suicide. What Shakespeare character is briefly a Queen of Scotland?

ANSWER: Lady MacBeth (do NOT accept or prompt on “MacBeth”)

5.
It is not easily seen from Earth except in the twilight hours, because relative to Earth, this planet is never more than 28 degrees from the sun.  Mariner 10 is the only spacecraft to have visited this planet, and the MESSENGER probe used two gravity assists from Venus on its way to study this planet in 2008.  With an orbital period of 88 days, this is what planet, the innermost of the solar system?

ANSWER: Mercury
6.
This novel’s author wanted to call it ¡Fiesta! (fee-ay-stah) but the publisher picked a title based on Ecclesiastes 1:5. A war wound has made the protagonist unable to consummate a relationship, and so to escape, he goes fishing among the Spanish hills and runs with the bulls at Pamplona. Jake Barnes and Brett Ashley are the central characters in what first major novel by Ernest Hemingway? 

ANSWER: The Sun Also Rises
7.
The Scottish Fold is the only variety of this animal whose ears are ‘floppy,’ but they all have a righting reflex. Breeds of them include Burmilla, Cornish Rex, Maine Coon, Russian Blue, Abyssinian, Persian, Siamese, and Manx.  Name this domesticated type of feline.

ANSWER: cat(s)
8.
By the 1970s, this political party had splintered into three factions, led by Michael Harrington, Max Schachtman, and David McReynolds. Its members Meyer London and Victor Berger were elected to Congress. It lost influence when its leader was jailed for advocating draft resistance in 1918; its left wing then left to join the Third International. What party nominated for President Norman Thomas and Eugene Debs? 

ANSWER: Socialist Party

9.
A suit-clad businessman is looking at one of this artist’s paintings in Norman Rockwell’s Connoisseur. Some scholars hold that he was a Cold War weapon against Socialist Realism. His later major works include The Deep and Blue Poles. In November 2006, one of his paintings was sold for $140 million to an anonymous buyer. What American artist’s ‘drip period’ led him to be a major force in abstract expressionism? 

ANSWER: (Paul) Jackson Pollock
10.
Around the universe, five hundred fifty-one were observed in 2006; on average, one should occur every fifty years in the Milky Way. One can be type Ia, Ib, Ic, IIP, or IIL depending on the elements in its spectrum. The earliest recorded one was observed by the Chinese in AD 185, and the most famous one, observed in 1054, produced the Crab Nebula.  Name this term for a massive stellar explosion.

ANSWER: supernova (DO NOT accept or prompt on ‘nova’)
11.
He ordered the carving of the Behistun Inscription which enabled the translation of cuneiform. He reorganized his empire, dividing it into twenty satrapies. His reign was marked by revolts: one in Egypt, three in Susiana, two in Babylonia, and one in Ionian Greece. What Persian emperor ruled between 522 and 485 BC, dying a few years after his army was destroyed at the battle of Marathon? 

ANSWER: Darius I (duh-rye-us) or Darius the Great (prompt on Darius) 
12.
This company's research and development division came up with many inventions, including the Unix operating system and the transistor, before being spun off as Lucent.  It broke up on January 1, 1984, but in 2005, SBC Communications acquired it, and took this company's name for its own.  This is what telecommunications company, with stock symbol ‘T’, whose former nickname was ‘Ma Bell?’ 
ANSWER: AT&T
13.
THIS IS A COMPUTATION QUESTION. What is the value of 25 factorial divided by 23 factorial, which is equal to 24 times 25?

ANSWER: 600
14.
One of these animals in an English zoo reproduced by parthenogenesis.  This reptile has an average length of two to three meters and in 2001 one attacked Sharon Stone’s then-husband.  Name this largest living species of lizard that is named after an Indonesian island and a mythical creature.

ANSWER: komodo dragon
15.
His attempt to build Shalako, a working frontier town, failed. He wrote three series: Kilkenny, Talon and Chantry, and Sackett. Under the pseudonym Tex Brisco, he wrote four Hopalong Cassidy novels. He wrote the novel Hondo and wrote the novelization of How the West was Won. Who was this French-Canadian writer of Westerns? 

ANSWER: Louis L’Amour
Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
What former Stanford University provost became the first female African-American Secretary of State following Colin Powell's resignation?

ANSWER: Condoleezza Rice
1B.
What street is Maryland Route 4, ends on M Street in Georgetown, and includes the Reagan Building and the Blair House along its length?

ANSWER: Pennsylvania Avenue
2A.
THIS IS A COMPUTATION QUESTION. What is the value of 5 cubed plus 5 factorial?

ANSWER: 245
2B.
Named after a French-Swiss mountain range, what is the middle period of the Mesozoic era?

ANSWER: Jurassic
3A.
In mathematics, it is the number towards which a sequence appears to be heading. The Chandrasekhar (chan-drah-say-kar) type of what concept relates to black holes? 

ANSWER: limit(s)

3B.
THIS IS A COMPUTATION QUESTION. What is the remainder when 1677 is divided by 11?

ANSWER: five
4A.
What animal is the offspring of a male donkey and a female horse?

ANSWER: mule
4B.
What woman was a reporter for the Atlanta Journal until 1936, when Macmillan published her epic novel, Gone with the Wind? 
ANSWER: Margaret Mitchell
5A.
In 1971, Daniel Ellsberg leaked to the New York Times what 7,000-page collection of top secret documents about the Vietnam War? 

ANSWER: Pentagon Papers
5B.
What Italian immigrant directed You Can’t Take It With You, It Happened One Night, Mr. Smith Goes to Washington, and It’s a Wonderful Life? 

ANSWER: Frank Capra
6A.
What Swede, the first to link carbon dioxide and higher temperature, is famous for defining acids as substances that produce hydrogen ions in solution? 

ANSWER: Svante (swan-TAY) Arrhenius (ah-REE-nee-us)

6B.
What god is worshipped by the Tisrocs of Calormen, and is the direct opposite of Narnia’s lion, Aslan?

ANSWER: Tash (Chronicles of Narnia)

7A.
Write down the following sentence. (Quizmaster: speak slowly) The prize money was split among the two of you. (Quizmaster: speak normally). If two people shared the prize money, how can that sentence be corrected?

ANSWER: replace among with between (accept equivalents)

7B.
A dot placed below or above a musical note indicates they are to be sung or played in what distinctly separate, detached manner? 

ANSWER: staccato
8A.
What museum has Hieronymus (high-raw-nih-mus) Bosch’s The Garden of Earthly Delights and Diego Velazquez’s Las Meninas, and is located in Madrid?

ANSWER: Prado Museum or Museo del Prado
8B.
A 1911 Missouri football game at which alumni were encouraged to attend was the first occurrence of what annual event at which alumni return to high school?

ANSWER: homecoming
9A.
THIS IS A COMPUTATION QUESTION. Where is the focus of the parabola y = 1/4 times the binomial x minus 5 squared plus 6?

ANSWER: (5, 7)
9B.
In terms of angular description, what type of triangle is a triangle of side lengths 5, 12, and 13?

ANSWER: right triangle

10A.
Who gave the name ‘Cape of Storms’ to the Cape of Good Hope when he discovered it while reaching the southern tip of Africa in 1488?

ANSWER: Bartolomeu Dias
10B.
What constant is approximately 6.63 times 10 to the -34th joules (negative thirty-fourth joules) times seconds?

ANSWER: Planck’s constant (prompt on ‘h’)

Third period, 15 toss-ups, 10 points each

1.
This type of reaction can be used to make pigments, strengthen alloys, or remove salts from water.  An example of this process is when aqueous silver nitrate is added to potassium chloride, a reaction that results in silver chloride.  Name this term for the formation of a solid in a solution during a chemical reaction that shares its name with a term for rainfall.

ANSWER: precipitation
2.
The Dance with Goblets is at the end of Act I. At the end of the original version, the two lovers jump into the titular object, causing the evil sorcerer Von Rothbart to die. However, Americans like happy endings: Von Rothbart has his wing broken by Prince Siegfried, enabling the Princess Odette to become human again. In what ballet by Peter Tchaikovsky has Princess Odette literally gone to the birds? 

ANSWER: Swan Lake

3.
In this case, the Supreme Court ruled Article IX of Pinckney’s Treaty did not apply, as property was not at stake. The Adams-Onís Treaty did not apply, as the Spanish did not possess the ship when it was in American waters. Allegedly, one of this case’s parties, Joseph Cinqué (san-kay), became a slave trader. What Supreme Court decision granted freedom to the slaves who had revolted and taken over the namesake ship?

ANSWER: The Amistad (ah-mee-STAHD) case

4.
The attack to start this battle was pushed back three months to await the arrival of the new Panther tanks. During this time, soldiers in the Central and Voronezh (vaw-raw-nezh) Fronts placed over a million mines and dug 3,000 miles of trenches. The attack stalled, and Hitler eventually called off further operations as the Allies had invaded Sicily. The largest tank battle in history was what Eastern Front battle in World War II?

ANSWER: Battle of Kursk
5.
After he was freed, he went to the court of Croesus (kree-sus) and ultimately died in Delphi. Richard Lobban argues that he was from Africa, since many of the animals in his stories are foreign to Greece and native to Africa. One tradition holds that he told ‘The Frogs Who Desired a King’ to the citizens of Athens when they wanted to overthrow Peisistratus (pay-sih-strah-tus). ‘The Tortoise and the Hare’ is the best-known of what man’s fables?

ANSWER: Aesop
6.
The second probe in this program was the first to send images of Neptune. The first crossed the termination shock in September 2005. They are now more than 100 astronomical units from the Sun and carry a golden record with information about the Earth and its inhabitants. What NASA program was designed to explore the gas giants but is now beaming back information about the outer edges of the solar system?

ANSWER: Voyager
7.
Originally, this fictional character’s name was to be Mia Angela Carol. She eventually marries and has a daughter of her own, Jane. She has two younger brothers, John and Michael, and lives with her parents, George and Mary. After moving to her new home, she is nearly killed by Tootles, and later incurs the jealousy of Tiger Lily and Tinker Bell. Who is the ‘mother’ to the Lost Boys in the novel Peter Pan? 

ANSWER: Wendy Darling
8.
While Vice-President, he complained that it was ‘the most insignificant office that ever the invention of man contrived.’ His term as President was marked by the appointment of ‘Midnight Judges’ and an undeclared war with France. Until October 13, 2001, he was the longest-living President. The last words, ‘Thomas Jefferson survives,’ were said by what first official resident of the White House and second President?

ANSWER: John Adams (prompt on “Adams”)

9.
A 24-hour church to this individual was open in Portland, Oregon, between 1985 and 2002. People like Joe Esposito and Red West all wore necklaces with the acronym “TCB” on them; they and others were known as the “Memphis Mafia.” A picture of him with Richard Nixon is the US government’s most requested image. January 8, 1935, and August 16, 1977, are the birth and supposed death dates of what King of Rock ‘n Roll?

ANSWER: Elvis Presley (accept either by themselves)
10.
THIS IS A COMPUTATION QUESTION. What is the area of a rectangle with perimeter 30 meters and one side of length 9 meters, given that perimeter equals 2L plus 2W and area equals L times W?

ANSWER: 54 square meters
11.
It is a caustic, white alkaline crystal with a molecular mass of 56.  It is used in glass production, in paper production to dissolve lignin, and in agriculture to improve acidic soils.  When hydrated, it is called ‘slaked,’ and is used in mortar and plaster.  Name this chemical compound also known as calcium oxide, with formula CaO.

ANSWER: quicklime or lime (accept calcium oxide before mentioned)
12.
Effie eventually loses this object. For the final year of its existence, it travels to Williams, Brown, NYU, and Rhode Island School of Design, and is worn all year. For three previous summers, it had traveled to Maryland, South Carolina, Greece, and other locations. Carmen, Bridget, Tibby, and Lena are the ‘Sisterhood’ that wears what magical item of clothing? 

ANSWER: the Travelling Pants
13.
Its former CEO Franklin Raines is still under SEC investigation for a scandal that involved ‘smoothing’ earnings between quarters. Founded in 1938 as a government agency, it became fully private in 1968 and continues to back conforming loans by buying mortgage-backed securities. What government-sponsored enterprise, formally the Federal National Mortgage Administration, is the competitor to Freddie Mac?

ANSWER: Fannie Mae (accept Federal National Mortgage Administration before it is said)
14.
Hesiod (heh-shud) said it would take an anvil dropped from earth nine days to reach here. Originally, it was a divine prison, with fifty-headed monsters guarding the prisoners, who included the Cyclops and Titans. Only after Plato did it become a punishment for mortal wrongdoers. What lowest part of Hades had Ixion, Sisyphys, and Tantalus as its mortal residents? 

ANSWER: Tartarus
15.
Someone holding this title can later achieve the title of dayan, or ‘judge.’ The ‘Chief’ one in a nation has the title ABD, or Av Beth Din, after his name. Ordination occurs in a ceremony known as semicha (say-mee-hah). Women can serve as one in the Reform sect. Most of them study at a yeshiva (yeh-shee-vah), where they study the Talmud and the Torah. Meaning ‘great one’ in Hebrew, what term describes a Jewish religious teacher?

ANSWER: Rabbi(s)

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
90% of noun plurals in this language are “broken,” and do not end in –un or –at. Its ‘chat alphabet’ makes heavy use of numbers to represent letters with no single-letter equivalent in English. Its literary language is used in broadcast and print media, and its spoken dialects include Maghrebi and Bedouin. What sixth official language of the United Nations is the language spoken in the Middle East?

ANSWER: Arabic
2.
Its derivative is equal to the negative of the cosecant squared.  It is equal to cosine divided by sine, which at 30 degrees is the square root of three and at 90 degrees is zero.  Name this trigonometric function that for an acute angle in a right triangle is equal to the adjacent side over opposite side and is the reciprocal of the tangent.

ANSWER: cotangent
3.
The abbreviation k.u.k. represented this nation that was created in the Ausgleich (ows-glike) of 1867. Most of its existence was spent mediating disputes between the eleven linguistic groups within its borders. The Blessed Carl I was its last ruler, relinquishing power, but not abdicating, in 1918. Franz Josef was the other ruler of what nation that fought alongside Germany in World War I and was broken up as a reward? 

ANSWER: Austria-Hungary or Austro-Hungarian Empire (prompt on ‘Austria’)

4.
The 2005 Broadway opening of this show included Hank Azaria and Tim Curry in the cast. In Las Vegas, John O'Hurley has been signed on to play one of the lead characters, a monarch with trouble counting to three. Eric Idle penned this musical, the 2004-05 Tony winner. What musical is based on a film by Monty Python and a Hormel Foods product, and centers on the search for the Holy Grail? 

ANSWER: Spamalot (DO NOT or prompt on accept an answer with ‘Holy Grail’)
5.
Two of these are a crumb and five of these are a nickel. On a machine that can process 32 of them at a time, 16 of them are a half word, while 64 of them are a double word. Four are a nibble and eight are a byte. Name this smallest unit of data measure in computer science.

ANSWER: Bit
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